
Lecture 8 - Sep 30

Math Review

Rel Image vs. Func Application
Modelling: Rel vs. Partial vs. Total Func
Injection, Surjection, Bijection



Announcements/Reminders

• Today’s class: notes template posted
• Event-B Summary Document
• Priorities: 

+Lab1 → Review
+Lab2 → Review

• Change of ProgTest venue - WSC106/108
• Released:

+ ProgTest guide
+ 2 Practice Tests and solutions
+ Lab1, Lab2 solutions



Relational Image vs. Functional Application

A function is a relation.

f ∈ {1, 2, 3} ⇸ {a, b}
f = { (3, a), (1, b) }
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Modelling Decision: Relations vs. Functions

Is where_is ∈ Employee <-> Location appropriate?

Is where_is ∈ Employee → Location appropriate?

Is where_is ∈ Employee ⇸ Location appropriate?

No
.
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Functions
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Injective Functions
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-> funcprop. X Injectiveprop.
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Surjective Functions
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Bijective Functions

all possible bijections
-> "no injective function can be made
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Exercise
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